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Steve	starts	with	$8.82	and	spends	$5.00
on	eggs.	Jack	spends	$5.00	on	eggs.	How
much	money	does	Steve	have	left?

Answer:

Jason	spends	$54.00	on	erasers.	Brian	buys
11	erasers.	Each	eraser	costs	$6.00.	How
many	erasers	did	Jason	buy?

Answer:

Annie	has	$3.17.	Alan	has	$2.00.	Pamela
has	$14.00.	How	much	more	does	Annie	have
than	Alan?

Answer:

Shirley	has	$11.00.	Tina	gives	with	$2.15
to	Shirley.	If	Tina	started	with	$40.00,
how	much	money	does	she	have	left?

Answer:

Ruby	has	$160.00.	bananas	cost	$8.00	each.
peanuts	cost	$8.00	each.	How	many	bananas
can	Ruby	buy?

Answer:
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Steve	starts	with	$8.82	and	spends	$5.00
on	eggs.	Jack	spends	$5.00	on	eggs.	How
much	money	does	Steve	have	left?

Answer:

$8.82	-	$5.00	=	$3.82

Jason	spends	$54.00	on	erasers.	Brian	buys
11	erasers.	Each	eraser	costs	$6.00.	How
many	erasers	did	Jason	buy?

Answer:

$54.00	/	$6.00	=	9	erasers

Annie	has	$3.17.	Alan	has	$2.00.	Pamela
has	$14.00.	How	much	more	does	Annie	have
than	Alan?

Answer:

$3.17	-	$2.00	=	$1.17

Shirley	has	$11.00.	Tina	gives	with	$2.15
to	Shirley.	If	Tina	started	with	$40.00,
how	much	money	does	she	have	left?

Answer:

$40.00	-	$2.15	=	$37.85

Ruby	has	$160.00.	bananas	cost	$8.00	each.
peanuts	cost	$8.00	each.	How	many	bananas
can	Ruby	buy?

Answer:

$160.00	/	$8.00	=	20	bananas


